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Cluster: 0248 ptr; resid: 0.29; r/c: 31/83

x.range

upstream meme PSSM #1; e=190

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=490

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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1292127735

12292

12378

1316013167

18036

20120

20508
21275

28551

31662

31927

41030
41875

42673

42721

43690

43774

44312

44505

44547
44858

44874
45621

45650

46021

46074

47054

48517

9123

string −500 −400 −300 −200 −100 −1
45650−0.22
48517−0.48
47054−0.55
20120−0.80
12921−0.80
44858−0.81
28551−0.98
43774−1.10
42721−1.10
42673−1.12
20508−1.15
41875−1.46
31662−1.61

9123−1.62
44505−1.82
44874−1.92
44547−2.63
46074−2.70
43690−2.72
27735−3.05
45621−3.20
41030−3.79
44312−4.04
18036−4.11
21275−4.62
13167−5.58
31927−6.51
13160−6.68
46021−7.66
12292−8.00
12378−10.95

log10(P) upstream meme1 2 log10(P.clust)=−3.03; 31 seqs; 31 uniq
c(0.5, 2.5)
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